


e

l'"—\—-___‘___|

x -2
(19) The continuous extension of the function [ (3}= 25—y 5
[ o=k
| m————ry
| 54

d (S F”‘i
i I
ia

£ x.::g is

X o

X

) Ty ¥ )
; (d) fixy=i

Y G G




- _

e ——

3 ‘—‘\\]\E_ﬁ
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(32) Equation of the tangent fine 1o the circle x

¥ =9 4 the point (0, -3) is

(a) = by y=-2

&) _»=1 @ y=3
(33) af x*+ 3 =6,then p'=
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(14) Consider the funciion o)
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5) The func .
ton fx)= -T-_E is continuous on thc interval
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At x =1, the function £ ()= {% *3 FS<1 o

[5=x,
right continuous only.
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¥ e -3 i x 20
fx}= L
ksinfx) i x=00

continuous at x = is-

fefy comtinuous only.

{ﬂ} discontinuous.
The value of & that makes the following function
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